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Jull ‘marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option of the .foll'owin'g :
: : 1x8=8
fFisfiRes »=t e Sev 2k Shea 2

(i) What is the prlmary advantage of the
' ‘Brick and Click’ Model ?

- T e o i el SR /e

(@) No need for physical space

- (b) Offer flexibility to customers in
- terms of shopping mode

Contd.
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- i PR

o) Coinpletély online
SevjefTet SeiR

(d) No digital pfeserice needed
RoRrcBer g A AR

(i) Which of the followmg is not typically

a step in strateglc plannmg process ?

'ﬁ-ﬁ%ﬂsmmmmmﬁwﬂﬁwm
e@aﬁaﬁmﬂmf" '

(a) Envnpnmental scaﬁning, .
(b) Forrnulafion of strategy
NazacikCliatl '
(c) Execution of employee
- performance reviews
(d) Strategy implementation
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(i)

In the communication process, who is
responsible for decoding the message ?

mﬂmﬂaﬁrmmmwmﬁ—
FI QRS ?

(@) Sender -
o
(b) Médium
N :
" (0 Réceiver
- o
(d) Feedback ghannel

- (i)
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A self-conﬁdent leader whose.
personality and-action influence people

~ to behave in certain ways is called

GO SRR @l IR JEY i IR

TEE TS SibRd IR 2elfTS I (96T

woTe e (@I 12R ol I o) I 2 2
(a) Participativeb leader -

SIS (ol
(b) Charismatic leader

ACAIRS JEIR ol

Contd.




. :(v)

(vi)

(C)' Autocratic leader

G (Tl

(d) Permissive leader

SAfonIET (ot

Which of the following is not within
the formal process of communication ?

mmmﬁaw@ﬁ%mﬁ—
AR

(o) ‘Encoding
SRR

(b) Interpreting
o ole®

(c) | Decoding
AT

(d) - Feedback

RIS oIS

The plan to achieve overall
organisational goals is called

TSR AR ST S A A ARPHAS
AR (FINGR [ &2
(a) Strategic plan

ags skl
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(b) ‘VTacticAal plan
TS AR

(c) Qperationé.l pla.n
IR I mmm

- (d) Standing plan

(vii)

‘Motivation is a stimulation of mind

under the management function of

| Tl ¢F TP Tonads s Reae

cwrc“m ARGERR TR TGS ?
(a) Directing
R
(b) Organising
Tostowa IR
(c) Controlling
g
(d) Co-ordinating

AT I
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(viii) Organisation where expert assistance @
is provided to the line managers are
ARolow, T© RS HARbET e Rerwes

(a) Line organisation

| &R oA
‘ .(b} Functlonal orgamsat10n
t R ot
| (¢) ‘Line and staff’ organisation
R wiF T oo
| (d) Project organisaﬁen
o e
?- Write short answers on the foilowing : (any
l"k s - 2x6=12
i Feaie Remr eome 53 $ev frar s (Rt
L
() Why do companies prefer for
franchising ? '
@rHiTimE amﬁf@f o arzﬁ FE?
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Write brieﬂy fwo techniques commonly

used in the decision making process.
rare ezt elferars R IR @RI kR
- IRewCA Bl

(iiij) Briefly state the relatienship between

planning and controlling in

. management.
AR AR S ﬁu@m pica) sma%
© ACRCH R €| ' | '
(iv) List three essential trait of an effective-
leader
gE ST (FOR f“ﬁﬁ‘f Wwﬁiw e
sifree 41|
(v) Write the main features of Theory X.
g X9 T @R Fa

(v Mention the problem of dual

accountability in matrix organisation.

- G sReiaTe e C?TI‘%IWWW
CE 3|
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-managerial control is considered
necessary.

ﬂﬁmwﬁﬂmwwaaq%www
- WWWWl

(viii) Creativity in dec131on making.
Frafs ereis sperrtere |

(ix) What is virtual organisation ? .
orfbae o e

{x) What is work from home. ?

9T o[ I A o

Answer any four of the following :5x4=20

Reare Rcpicr sifeore Bea B 2

() Explain the concept of strategic
planning.

Wrﬁﬁwwmmwwu

(i) Define ‘bounded rationality’ and its role

in decision making,

‘ﬁﬁww’amwﬁmwﬁwéﬁq@
3R ofie pIRm
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(viij) List out at least two areas where |

(i) What are the three core elements of
delegation of authority ?

O RONTT fOM T Tl R 2

(iv) Discuss the factors that can affect an

individual’s motivation in the
workplace.
FHZETS & Wwﬁaﬁw ASIF (TR 2/
I (@R RA@W A 0 |
(v) Explain the steps in decision making.
| ﬁmawww‘mwm ARCFR
A P '

(vi) What is the laissez-faire or free-rein
" leadership style ? In what type of teams
or setting would this leadership style
be most effective ?
‘Laissez-faire’ (199 06112 (PN 4398 Wl
W AR G (TR 0 RS PRI 2
(vii) Explain Matrix organisation structure.
Matrix RS oW iyt =

(viii) Why is informal organisation no less
important than formal organisation ?

m@fﬁ@ﬂ\%ﬁﬁwmﬂﬂmw
gl I @ T2 |
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Answer any two of the following :

(i)

(iii)

10%x2=20

)

Discuss in detail the difference between

micro, meso and macro environment -

in business.

TP T, (6 91 328 AR wers <l

SR IR S 1

Elaborate on the four pillars of corporate
social responsibility.' (Economic, legal,
ethical and philantrophic obligation)

 Reiffoei@ 7 311 | (SRS, TR, (wfes

WIF TR WIR)

Discuss the role of IT and social media

~in communication in business

organisation.

[T AN Y 2RE ST AN Tl

@R cFae &gl Bz o) e |

SICEIBAT 1 |
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(v)

N 2 R S R B R T

) }ﬂ ( | : ‘0 i faﬂure .
@ . (iv) What are the some€ pote?iflil
 reasons and success ac

ors for

el . : ing ?°
business process re-engineert g7

PR e TS Sem &

Evaluate the importance of Worl;llltfg
balance . in today’s - corporatc.

- environment.

TEE A ARCP® TGN T
S PO FAL
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